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Instructzons — (1) All Questlons are Compulsory.

(2) Answer each next main Question on a new page.

(3) Use of Non-programmable Electronic Pocket
Calculator is permissible. A
y other Electronic

(4) Mobil¢ Phone, Pager and an
Communication devices are not permissible in

Examination Hall.
Mari(s
1. " Solve any FIVE of the following: 710 "
a) Ex;aluate : f(lixzw“cosx)dx > 1"'\:(’5\0 m.\. s\neXxC

b) Evaluate : f J1+cos2x dx

oS X = _‘_‘E_QES/QM rone0stRe SUSSS
<= 3\”’“9%/\ I = fﬁ\j% +C
541»3{ = 82- 0573 o %

| d) Find the order and degree ©of the following dlfferent"T"
vl d ,
equation nyz— =\/y—;§) 0\*2\:; LQ;:.

¢) Show that the root of the equation x> =2x — 5 = 0 lie
SR N

between 2 and 3. F(B‘):\Q : =
f) Find the approx1mate square root of a number, 10 usmg o
" Baklhishali Iterative method 2’24 - JoN-a™ ®=2axTI"ha
Mnm = */9_1‘-\ "aieu'& \C
A fair coin is -tossed 8 times. Find the probability of g’é‘t‘fi’”g
exactl 2 head
£ \;\m}:uhm =Ly

ginomal
P (=)= Q)?“o DR

Joneg ke 2o 1)_0 5 Y K
p(xhn.) - 5%, 0-25+0:015% T e
Wit R -~ P.T.0.

p(r=~2) =010 1035
px=2 = 0 Sq%

c) Evaluate : f (4x x) dx
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Ax = n=siny % dw = cosy Ay

— b -—_.—" -
a) g;(sm\x: = = Y=s\n
R P .
Jrr= sy 5 s‘“x-\, = >99‘AT g = 3\0")(’\-C
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2. Solve any THREE of the followmg >“ SA\M( e {;' ‘ 4.
(u*\)(u&z) u—&‘ x LL‘VQ— =2 \= A(“’\QDtB(U’\\)
5) . a) Evaluate : f \/’ 2 { = ALtoAAB U TS = \= A«ﬁ) Wy C'J—H&@
u=Ss\nx 1—x (sm 'x)
du = cosxd=t ePF we A8 =0 , cost  2AXB =)
il ; f B=-f A=\ . . ok S
Aus= o™ dx b) Evaluate : (sinx+1)(smx+2) dx S e ok
V'e"L o S Q*\ \«Q - 5 S\\‘n’x-\\ \_\_Q'
2 e"*smx—Be caS%C Evaluate f e*.sinx dx SN2
e

I,_S e® cosx 4

1
d) Evaluate : f \/—’6%6?—}? dx )@\mg!'t&hc pcw%‘ —o%= g%

Q=CosX
du--sinX AR \6-6%~ = \6- (%’ —’K—Q’XB
v ~eX 3. Solve any THREE of the followmg XQ_*GKA P ~=9
- " % a4 S 16-8x-® = 16- (A= S 16137 ~oas)”
> I ec,osuje, a) valuate : / m = 25 ~ Q-&)\.g) .
0
S = e'LS\Y\')L 1 j*-—’/r/'—g—c\&
T-= e'*S\'ﬂx~€1c,OSI~l 4 VF RE-Lats) _dx% S/’—' du
ex -e"ts\nx—cos‘b())) Evaluate : f3«/x(+§+3‘/9’; Ay = ol = du= 9 u>
= eX(stnx - ccsx) fedi® - = g¥es\n g--\'Q ——.
—_— % c) Solve the dlfferentlal equatlon —_—— \
| (2xy+y2)dx+(x2+2xy+s1ny)dy—0 e
d) Using Bisection method find the root of the equation N
A ¥ —x—1=0 (Three iterations only) '
‘ - N , A
D - tan (S O o= 8 Fexy=0 Inhorshon T
=~ 1. Bl = C\:\ -
cosa= I cunlll dn= odt neex2y = = DRX?Y £ lﬁ(a.a~5" ‘ :
A E> HER o reriiad S oidpoint= = i‘.\% c=15
‘ VAR
-—L:OS"’ 2 ) ™ | RCO= ) 20.8TF O
Bt ("B ) TR ‘ e = :
S i 'aeb N < wfﬂ*ﬂ“‘i - Trtershon Lo :
/ arey sra(P ) zb(x e Bmﬁ—w\ *ydx a=\,b=ls T L= ’
j - ;’0 Q—db - \_‘+\1 b{-&a(‘{) 3 £Q .Ls>: -0 29¢ E"Q'S‘l‘gl
= g & = - s =
i 30 <oy 29D Foerahon .
db . Lar (K ® o ORGP RIS PRV ST ¢
Ve ™ & ) ey S0y ‘ ‘ e=1an5
s o 9'(y) =siny £y = 0-0Y
T = & [avc (f)J (108 75)
< # 3Y) e ~cosytC eSS %
-_—

T-%a(R-0). s |Ab) = atyryET OsYER
Mol AlY) =€ ’
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4. Solve any THREE of the following: 12

a)~Find the root of the equation x> + 2x* — 8 =0 using Regula
Falsi method. (Perform three jiterations)

/b)’ Using Newton Raphson method, find a root of the equation
¥4 — x — 9 = 0, perform upto three iterations.

c) Solve the following equatlons by Gauss - Seidal method Ry
' oo gAy-3E  yn 2=X2F , pansdaay
5x — 2y + 3z = 18 -v’-—'s':” — =
x + 7y — 3z = 22 o -0, \,C-o) N 28D =&
q(h) 2iglg \-QO')-;')_-G'L Cv) e,_,.ae

—

2x —y + 6z =22 e
machine are defective,

& If 20% of the bolts produced by a
f 4 bolts drawn

determine the probability that out 0

i) \ One is defective x vy 21126

ii) /at the most two are defective. YL P SINEG
Z X 3+\)

;ej/ If probability that an electric motor is defective is 0.01, what
is the probability that sample of 300 electrlc motors will

contain exactly 5 defective motors?

A

5. Solve any TWO of the followihg: Si\‘tﬁ? : Am‘l}{
. dx spaslsn N
a) i)  Evaluate : f 3 2six 1)
ot b =0+ l—e = L‘ _ :
. 1-tanx by L
_iiy’ Evaluate : f 1+ tanx dx L TS
1 . e = 2 |
b) i)  Evaluate : f S\ERSS Stﬁ’*
2 x+1 5
: D+ ks)
‘ /rﬂ/ , f . S‘\ e_}my 33‘34(
H E t sin’x cosx - '
valuate : aﬁs,\_ y‘_ ZTars 3&_{(
A ’ a s ¥ 3)3-x ‘
- smx B
Evaluat dx §
) A Bvahuste | 7l o T cel
2 X \ Ax
~ity~ Evaluate : fs ——’—j dx
, : ; T-x+yx [:'*30
(u-¢) PT.O.
2T = 4 ' |
I =0

g
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6. Solve any TWO of the following: W) eecZctay) du = ~2 2y \y) 4 y

a) i) Form the D.E. if y = ax2 + b &x
i) Solve : secx tany dx + sec?y tanx dy = 0 sec>Ckanie) = — a4y
b) i)  Solve the differential equation dx 53(9‘(%\?\%)
%\i 5’3’17( d Secly = -2
AR T LT iy
’(3;'&*\*:“ ; i = coslo
" g ii)  Show that the equation ° T se @) 10 fAan)
A () =% 2 2 ' bamcr Z2UB9 = - (faw y
dnt (3x* + 6x%) dx + (6x%y + 4y?) dy = 0 is an exact D.E: . an(qunq))
S,ac), Cxq)d’*:yﬂg - In a sample of 1000 cases, the mean of a certain test is 14 N A
Jax ’ and standard deviation is 2.5. Assuming the distribution to be i

normal, find

¢
i 2odu=2e e
A i)  How many students score between 12 and 15?

_ el
Y “%’ k& il) How many students score above 18?
ALY ' Given:
S 2t A(0.8) = 0.2881

A(0.4) = 0.1554
A(1.6) = 0.4452

o)) n:\oqo ,
A= =25

shandord Newmel cuzve

T . Gt S
[ '2'—'-,-—-—; = 2.5

!
|

P o X~ 2

- = 7 B SR "9‘__.}?:_;8'
s QS FT

JA=AS 201

p(laerng\s) =¥ (-0-38 272204)

- p(-0-94220) +P (022 £0:4)
e 0.9_82\1‘0{_\3‘57?
<0443
R 4ty
B =g 2= L6

YCYALY) T AN
= 0«0‘5'-‘?'8
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